Purchase Order

Page No:

27-07-2023 16:50:12

TRAVEL FOOD SERVICES PRIVATE LIMITED

Block-A South Wing 1st Floor Shiv Sagar

Dr. Annie Besant Road, Worli Mumbai

27

Maharashtra

27-07-2023

GEN

27AADCB2762L1ZI

Corporate Address

MUMBAI, 400018

State Name

Requisition

PO Entry Date

Project ID

Comp GST No.

Estate

State

No.

Order Number BLR/PO/23-24/000644

022-43224304

vices.com

kumar.dhulap@travelfoodser

V0002797 Vendor No.

CityFurnish India Private Limited

Bommananalli

BANGALORE, India 560068

India

P.A.N. No.

State Code

KA

AAICC0524A

29AAICC0524A1Z7

Vendor Inv. No.

Vendor Fax No.

Vendor GST No.

Contact Person

Contact No.

E-Mail

ETA:

India

Shipped Location

BLR Bombay Brasserie

Terminal 2, Kempegowda Int.

Airport, KIAL Rd, Devanahalli

KARNATAKA, India 560300

Order Address V0002797.4

d) PLEASE SEND THE ORIGINAL COMMERCIAL/GST INVOICE ALONG WITH THE MATERIAL TO THE

Invoice Location

BLR Bombay Brasserie

Terminal 2, Kempegowda Int.

Airport, KIAL Rd, Devanahalli

560300 India

IN

022-43224304 kumar.dhulap@travelfoodservices.com

Payment Terms 50% advance and

remaning after

delivery

29AADCB2762L1ZE **GSTIN**

N	Λ	
N	Λ	

HSN\SAC												Total Tax	Total Amount
SNo	Item Code	Code	Item Description	Description 2	Item Category	UOM	Unit Cost	Qty	GST%	VAT %	Excise	Amount(ININR)	(ININR)
1	7000024	94010000	Chairs	Chairs as per Annexure		NOS	5,24,280.00	1	18.00	0.00		0	524280.00
2	7000025	73239190	Tables	Tables as per Annexure		NOS	3,50,350.00	1	18.00	0.00		0	350350.00
							Total Unit	2.00					_

Delivery and installation at Actuals Payment Terms - 50% advance and 50% post 15 days of final invoice submission **Total Taxable INR** 8,74,630.00 **Excise Amount** 0.00 CGST Amount 78,716,70 SGST Amount 78.716.70 a) Products to be Supplied by b) Any deficiency in Documents and Process will be liability of the supplier only Cess 0.00

Supplier at own cost

c) Delivery schedule to be

taken from the Buyer before DELIVERY ADDRESS. Despatching the mater

e) The Payment of taxes will be Released once the Taxes is Credited to our Account or the

GST Portal

Total INR Incl. Taxes

10,32,063.40

0.00

Disclaimer - Unless informed to us it is assumed that you are not registered as MSME with the respective government authority. If you have not yet provided the MSME details along with proof kindly provide the same at the earliest. Alternatively once you get registered then provide us relevant proof to update our records.

Page No:



Vendor No. V0002797

CityFurnish India Private Limited Bommananalli BANGALORE, India 560068 India

P.A.N. No.

AAICC0524A

State Code KA

29AAICC0524A1Z7

Vendor GST No. Vendor Inv. No.

Vendor Fax No.

Purchase Order

Order Number BLR/PO/23-24/000644

Invoice Location

BLR Bombay Brasserie

Terminal 2, Kempegowda Int.

BLR Bombay Brasserie

Terminal 2,Kempegowda Int. Airport, KIAL Rd, Devanahalli KARNATAKA, India 560300

India

Airport, KIAL Rd, Devanahalli 560300 India IN

Contact Person

Shipped Location

Contact No. 022-43224304

E-Mail kumar.dhulap@travelfoodser

vices.com

V0002797.4

ETA:

Order Address

022-43224304

kumar.dhulap @travel foods er vices.com

Payment Terms 50% advance and remaning after

delivery

GSTIN 29AADCB2762L1ZE

Nο

Corporate Address

TRAVEL FOOD SERVICES PRIVATE LIMITED

Page No:

27-07-2023 16:50:12

2

Block-A South Wing 1st Floor Shiv Sagar

Estate

Dr. Annie Besant Road, Worli Mumbai

MUMBAI, 400018

State 27

State Name Maharashtra

Comp GST No. 27AADCB2762L1ZI

Requisition No.

PO Entry Date 27-07-2023

Project ID GEN

								City Furnish		
Sr. No.	Service / Materials Code	Description	Dimension	Item Description	Furniture Image /Images	Units	Qty. of Items	Rate/Unit	Total Rate	
1	C1	DINING CHAIR	W - 50CM D - 45CM H - 83CM SH - 47CM AH -62CM	Legs: TEAKWOOD Back: SELECTED FABRIC Seat: SELECTED FABRIC Polish: CLEAR WATER BASED PU Upholstery Work: Foam density - SEAT - 40 & BACK - 32, Foam make - SLEEPWELL, fabrics Make - SAROM and product code - FILLA 112/NEO 724		Nos	30.00	8,905.00	2,67,150.00	
2	C2	DINING CHAIR	W - 55CM D - 50CM H - 87CM SH - 47CM AH -66CM	Legs: TEAKWOOD Back: SELECTED FABRIC Seat: SELECTED FABRIC Polish: CLEAR WATER BASED PU Upholstery Work: Foam density - SEAT - 40 & BACK - 32, Foam make - SLEEPWELL, fabrics Make - SAROM and product code - FILLA 112/NEO 724		Nos	11.00	10,140.00	1,11,540.00	
3	C3	HIGH BAR STOOL	W - 45CM D - 50CM H -110CM SH - 78CM	Legs: TEAKWOOD Back: SELECTED LEATHERETTE Seat: SELECTED FABRIC Polish: CLEAR WATER BASED PU Upholstery Work: Foam density - SEAT - 40 & BACK - 32, Foam make - SLEEPWELL, fabrics Make - SAROM and product code - NEO 724, leatherette Make - SAROM and product code - ATHENA 204	Ref. image for fabric color and design	Nos	9.00	7,480.00	67,320.00	
4	C4	LOUNGE CHAIR	W - 68CM D - 65CM H - 100CM SH - 39CM AH -55CM	Legs: TEAKWOOD Back: SELECTED FABRIC Seat: SELECTED FABRIC Polish: CLEAR WATER BASED PU Upholstery Work: Foam density - SEAT - 40 & BACK - 32, Foam make - SLEEPWELL, fabrics Make - SAROM and product code - FILLA 112/NEO 724 Cushions: Foam make & fabrics / leatherette make- and Product code		Nos	2.00	16,710.00	33,420.00	
5	C5	SWING SOFA	W - 190CM D - 62CM H -68.5CM SH - 41CM	Legs: TEAKWOOD Back: SELECTED FABRIC Seat: SELECTED FABRIC Polish: CLEAR WATER BASED PU Upholstery Work: Foam density - SEAT - 40 & BACK - 32, Foam make - SLEEPWELL, fabrics Make - Cushions: Foam make & fabrics / leatherette make- and-Product-code		Nos	1.00	44,850.00	44,850.00	
6	T1	TABLE	L - 750 B -600 H - 750	Top: wood details- TEAKWOOD, thickness - 35MM, Polish - CLEAR WATER BASED PU. Stand: Material Details - CAST IRON POLE WITH BLACK PVD COATING Base/Legs: Material Details - CAST IRON BASE WITH BLACK PVD COATING, SIZE - 300 MM Polish: CLEAR WATER BASED PU	THE STREET	Nos	12.00	15,600.00	1,87,200.00	
7	T2	TABLE	L - 750 B -600 H - 750	Top: wood details- 50 MM THK.TEAKWOOD BORDER, top - 18MM THK.BLACK MARQUINA MARBLE Stand: Material Details - CAST IRON POLE WITH BLACK PVD COATING Base/Legs: Material Details - CAST IRON BASE WITH BLACK PVD COATING, SIZE - 300 MM Polish: CLEAR WATER BASED PU		Nos	4.00	24,050.00	96,200.00	
8	Т3	TABLE	L -1800 B -750 H - 750	Top: wood details- 50 MM THK.TEAKWOOD BORDER, top - 18MM THK.BLACK MARQUINA MARBLE Stand: Material Details - CAST IRON 75MM POLE WITH BLACK PVD COATING Base/Legs: Material Details - CAST IRON CROSS LEGS WITH BLACK PVD COATING Polish: CLEAR WATER BASED PU		Nos	2.00	26,650.00	53,300.00	
9	T4	TABLE	H - 450 Dia - 600	Top: 25 MM THK LOUNGE TABLE TOP WITH PLYWOOD FRAME WORK & 18MM THK. BLACK MARQUINA MARBLE WITH STEEL EDGING. Stand: Material Details - CAST IRON POLE WITH BRASS PVD COATING Base/Legs: Material Details - CAST IRON BASE WITH BRASS PVD COATING, SIZE - 300 MM		Nos	1.00	13,650.00	13,650.00	

8,74,630.00

BOMBAY BRASSERIE-BIAL			Authantique Amardeep		City Furnish		Kevin Furnitures		Master Craft		Smart Seatings		Ki	ian							
NO.	FURNITURE	DISCRIPTION	BRAND/ CODE	FABRIC / MATERIALS	FINISH	SIZES - follow the standard and chair perspective	QUANTITY	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
1	**	Dining chair	C1		Dining chair with 15 blue fabric and 15 tan color fabric and the wooden legs	Seating ht : 450mm	30	10000	3,00,000	15500	4,65,000	7150	2,14,500	12750	3,82,500	8500	2,55,000	11,800	3,54,000	14650	4,39,500
2	A	Dining chair	C2		Dining chair with tan color fabric and the wooden legs	Seating ht : 450mm	11	13500	1,48,500	18500	2,03,500	8450	92,950	14500	1,59,500	8500	93,500	15,500	1,70,500	20950	2,30,450
3		High Bar Stool	C3		Wooden high bar chair with cushion seat having SS frames with brass pvd coating with 2 tone fabric front and back	Seating ht: 775mm	9	10000	90,000	12500	1,12,500	5850	52,650	16750	1,50,750	7200	64,800	16,800	1,51,200	11640	1,04,760
4		Lounge chairs	C4		lounge chair with front fabric and back leatheratte	Seating ht: 450mm	2	22000	44,000	28500	57,000	12350	24,700	21750	43,500	14000	28,000	27,600	55,200	25500	51,000
5		Swing sofa	\$1			L:690mm X W:610mm Seating ht : 450mm	1	21500	21,500	37000	37,000	16250	16,250	18500	18,500	9500	9,500	36,500	36,500	33750	33,750
6		Dinning Table 1	T1		35mm teakwood tabke with clear PU polish table top with Base to have cast iron pole and round plate	600mm X 750mm Ht: 750mm	12	18500	2,22,000	26500	3,18,000	15600	1,87,200	24500	2,94,000	12000	1,44,000	12200	1,46,400	14600	1,75,200
7		Dinning Table 1	T2		35mm thk dining table with black marble top and 50mm wooden border. Base to have cast iron pole and round plate	600mm X 750mm Ht: 750mm	4	14500	58,000	30500	1,22,000	24050	96,200	24500	98,000	11000	44,000	15,385	61,540	18570	74,280
8		Dinning Table 2	T3 - T4	Til	35mm thk teakwood DINING table with black marble top and 50mm wooden border. Base to have 2 no. 75MM MS pole and cross legs as per image	1800mm X 750mm Ht: 750mm	2	34000	68,000	42000	84,000	26650	53,300	48500	97,000	21000	42,000	31,700	63,400	37650	75,300
10		Seating Table 2	T5		25mm thk teakwood Lounge table with black marble top and 50mm wooden border. Base to have cast iron pole and round plate	Dia:600mm Ht : 450mm	1	14000	14,000	30500	30,500	13650	13,650	24750	24,750	9500	9,500	12,500	12,500	14150	14,150
							Transportation Installation GST Grand Total		9,66,000 At Actual - 1,73,880 11,39,880		14,29,500 47,500 - 2,65,860 17,42,860		7,51,400 At Actual - 1,35,252 8,86,652		12,68,500 At Actual - 2,28,330 14,96,830		6,90,300 At Actual - 1,24,254 8,14,554		10,51,240 - - 1,89,223 12,40,463		2,15,710 14,14,100